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YREB WNEEE W = 430 kg
EINETS hG= 40.0cm
RILER/RY  (RiB) LA= 850cm
(5380) LB= 645cm
— RILEDDS LGA= 425cm
] ) ELFETOIER LGB= 323 cm
IW+FV IW+FV RILEF X M10
. oA . LGB | ‘ NIV n= 4%
LA LB
BEERTRIZESE. hEFRHBICHTIHERLZR
RETRIZEEE KS 1.0 15 2.0
Hhig (% 5k z 1.0 1.0 1.0
REtHEKEEE KH=KSxZ 1.0 15 2.0
RETRKEHE S FH=KHxXxW x9.8| 4214 N 632.1 N 842.8 N
REtHSEME RN FV=FH/2 210.7 N 316.1 N 421.4 N
Foh—RILEBIER B RILER /R KIBAIRbA)
R FH xhG + (W x9.8+ FV)x(L-LG) 257.2 N 333.1 N 409.0 N
L x nt RILE R/ 5538 48I(RbB)
*L:LAXIZLB, LG:LGAE1=IZLGB. nt=n/2 288.7 N 380.4 N 472.0 N
Toh—mRILNEAMIGHE
S RIL BT E RS 191.5 N/em?| 287.3 N/cm?|  383.1 N/cm?
n-A A=055 cm?
B7oh—OEMHRSIREEICHTIREE
HEMIEBIERTVH—HRILN(ERLR)
WRT o 13.2 {& 10.0 {& 8.1 1%
EEAEFAEIRTrE: 3.8 kN
ERILFOEMRHEBREAWMIEHEICHTIREE
RJLE(SS400)
52.7 {& 35.2 {& 26.4 f&
EEA R AW SE 101 kN/om®
AT L ARV (A2-50)
7 476 f& 31.7 f& 23.8 f&
SEEISE R AW S EE:9.12 kN/cm?
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